
 

 

 



 

 

                                  NEET PHYSICS PEPAR 

                                           SOLUTION 

                                        (SECTION – A) 

1.  (c) 

2.  (a) 

3.  (c) 

4. (C)   Volume of sphare     V = ସ
ଷ

ଷ 

            pwfd  xksys dk vk;ru  V = ସ
ଷ

ଷ 

                                              ௗ௩

௩
 = 3( ௗ௥

௥
) 

   Percentage error in measurement in the volume =3  1% =3% 

  vk;ru ds ekiu esa izfr”kr =qfV =3  1% =3% 

5.  (b) 

6.  (c) 

7.  (d) 

8.  (c) 

9. (b)  E0 dh foek = ିଵ ିଷ ସ ଶ  

          ଴ dh foek = ଵ ଵ ିଶ ିଶ  



 

 

   
୉଴

ఓబ
 = [ெషభ௅షయ்ర஺మ]

[ெభ௅భ்షమ஺షమ]
 = ିଶ ିସ ଺ ସ = ିଵ ିଶ ଷ ଶ  

               = ଶ ଷ ିଵ ିଶ  

10. (d)  ÅtkZ E dh foek = ଵ ଶ ିଶ  

            G  dh foek = ௙௥మ

௠భ೘మ

 = ୀ [ெభ௅భ்షమ][௅మ]

ெమ  = ିଵ ଷ ିଶ  

     
ா

ீ
  dh foek = [ெభ௅మ்షమ]

[ெషభ௅య்షమ]
   = [ ଶ][ ିଵ][ ଴] 

11.  (b) 

12. (C) jkf”k;ksa dks tksMus vFkok ?kVkus ij izkIr Qy esa n”keyo ds ckn dqy 
mrus gh vad gksus pkfg;s ftrus dh tksMus vFkok ?kVkus okyh fdlh jkf”k esa 
n”keyo ds ckn de ls de vad gksrs gSA vr% 

     9.99  - 0.0099 =      9.98  3 lkFkZd vad 

13- (d)    

    vYirekad  = pwMh vUrjky ¼fip½@ o`Rrh; iSekus ij [kkuks dh la[;k 

          0-01 mm =  pwMh vUrjky ¼fip½@5-0  

              ¼fip½ = 0-5 mm 

14. (d)   Y  ௔ ௕ ௖             Y =ி

஺
    

         [ெ௅்షమ]

[௅మ]
      ଵ ଵ ିଶ ௔ ିଵ ௕ ଶ ௖ 

    [ ଵ ିଵ ିଶ]  ௔ ௔ା௕ାଶ௖ ିଶ௔ି௕ 



 

 

       a+b+2c= -1 

       -2a+b     =-2 

        a=1, b=0,  c=-1 

  Y = [ ଵ ଴ ିଵ]    

15. (b)  fn;k gS  x  =஺మ஻భ/మ

஽య஼భ/య   

   %  =qfV ∆௑

௑
 = 2∆஺

஺
 +ଵ

ଶ
 ∆஻

஻
 +ଵ

ଷ
 ∆஼

஼
 +3 ∆஽

஽
 

 

            ∆௑

௑
 = 2(1%)+ଵ

ଶ
(2%)+ଵ

ଷ
(3%)+3(4%)=16% 

16. (C) V = At +B + 2 ௗ௫

ௗ௬
 = At +B + 2 

       => ௫

଴
 = ଶ

ଵ
 

  X = ஺
ଶ

ଶ ଶ ஻

ଷ
ଷ ଷ ଷ஺

ଶ

଻஻

ଷ
 

17. (b)  le; = dqy yEckbZ @ vkisf{kd osx 

             = ହ଴ା

ଵ଴ାଵହ
 = ଵ଴଴

ଶହ
 = 4 sec. 

18. (d)  3t =  +6   =>  3x = ଶ  

                = 3 ଶ  

           V = ௗ௫

ௗ௧
   = 6t-12 



 

 

    V=0   ds fy, t = 2 sec. 

vr%   x= 3 ଶ  

19. (c).  ଵ
ଵ

ଶ
ଶ ,  ଶ

ଵ

ଶ
ଶ,   ଷ = ଵ

ଶ
ଶ  

             => ଵ =௛మ

ଷ
 = ௛య 

ହ
 

20. (a)  ௦೙

௦೙శభ
 = 

௨ା
భ

మ
௔(ଶ௡ିଵ)

௩ା
భ

మ
[ଶ(௡ାଵ)ିଵ]

 

fn;k gS u=0  then ௦೙

௦೙శభ
 = 

భ

మ
௔(ଶ௡ିଵ)

భ

మ
௔(ଶ௡ାଵ)

 =(ଶ௡ିଵ)

(ଶ௡ାଵ)
 

21. (a). 

      

 

  ଶ ଶ   => ଶ ଶ  

 h = 300 meter 

22.  (c) 

23. (b).   cy  F =  (M Kg. ିଵ)(V  m ିଵ) = [MV Kg.m. ିଶ] 



 

 

                     F= M V(.N) 

24. (c) 

25.  (c) 

26. (b).  dk;Z = cy  foLFkkiu 

        ;fn cy o fcLFkkiu nksuks dks nqxuk dj fn;k tk;s rc dk;Z pkj xquk 
gks tk;sxkA 

27.  (a) 

28. (d)  E = ௉మ

ଶெ
  =>  E2 =E1 ௉మ

௉భ

ଶ  = E1
ଶ௉

௉
ଶ

  

 E2  = 4E1 = E1 + 3 E1 = E1 + E1 dk 300% 

29. (c)  P =  , ;fn E leku gS rc  p  

                       ௣భ

௣మ
  = ௠భ

௠మ
 = ଵ

ସ
= ଵ

ଶ
 

30.  (b) 

31. (c)  “kfDr  (p) = ௪
௧

 , ;fn w fu;r jgs rc p  ଵ
௧
 

            ௣భ

௣మ
 = ௧మ

௧భ
 = ଶ଴

ଵ଴
 = 2 

 

32. (d).  ftl fcUnq ij cy vkjksfir gS mldk fLFkfr lfn”k r1=i + 2j+ 3k  
             ftl fcUnq ds ifjr% cy vk/kw.kZ Kkr djuk gS ml nwljs fcUnq dk 

fLFkfr lfn”k r1= r1  - r2  = (i + 2j + 3k)- (3i -2j-3k ) 
            ଵ

ଵ =-2i + 4j 6k  
        cy vk/kw.kZ ¼Torque½  = ଵ

ଵ  f=(-2i + 4j 6k ) (3i -2j-3k ) 



 

 

        =    

      
               = i (12+30) – j (-6-24)+k (10-16) 
             =( 42i + 30 j – 6 k ) Newton  meter 
33. (a).  T  ଶ 

              ;fn f=T;k dk eku vk/kk dj ns]  rks vkorZdky dk eku 
ଵ

ସ
 gks tk;sxk 

vFkkZr 
ଶସ

ସ
 = 6 ?k.Vs 

34. (c)  ?kw.kZu xfrt ÅtkZ  E = ଵ
ଶ
  ଶ 

                                   ଶ= ଶா

ூ
 

                                      W=  ଶா

ூ
 

 

              dks.kh; laosx (j) = I W  = I ଶி

ூ
  

                                          =  
35.  (d) 
 

36. (c) Scanning tunneling microscope limit of resoltuon = 0.1 A 

Can resolve size of molecules and atoms. 

᭭कैिनग टनᳲलग सू᭯मदशᱮ िवभेदन सीमा = 0.1 A अणुᲐ और परमाणᲐु के आकार 
को िवभेᳰदत कर सकता ह।ै 



 

 

37. (d)  M=1 mm,  𝑛௏=20, 

            LC=(௡ೇି௡ಾ

௡ೇ
) M = 

 

38. (a) Total mass = 1.0 kg + 0.030 kg = 1.030 kg. = 1.0 kg

 

39. (d)  Maximum horizontal range = 80m

 𝜃 = 45 0m  

 ∴ ௨మ

௚
 = 80 m ,Maximum height h=

 

40. (d) 

Thermal resistance, R= 

Thermal conductance = 

41.(b) 

 42.(b)     

=20, 𝑛ெ=16 

) M = (ଶ଴ିଵ଺)

ଶ଴
× 1 = 0.2 

Total mass = 1.0 kg + 0.030 kg = 1.030 kg. = 1.0 kg

Maximum horizontal range = 80m 

= 80 m ,Maximum height h=௨మ

ଶ௚
  =଼଴

ଶ
 40m 

R= ௅

௄஺
 = ௠௘௧௘௥

ௐ௔௧௧௠௘௧௘௥షభ௠௘௧௘௥షభ(௠௘௧௘௥)మ =

conductance = ଵ

ோ
= ௐ௔௧௧

௄௘௟௩௜௡
 

 

Total mass = 1.0 kg + 0.030 kg = 1.030 kg. = 1.0 kg 

=௄௘௟௩௜௡

ௐ௔௧௧
  



 

 

                   

43.(c) 

                         

44.(b)          

          

45.(c)    

 

 

 

 



 

 

             

 

46.(c) 

            

 

 



 

 

             

47.(a)  

          

           

 

48. (a) 

 

 

 



 

 

          

            

        

49. (b) 

               

 50. (c)       

                    

                       

 

  

 

 

 



 

 

                                   NEET BIOLOGY PAPER 

                                           SOLUTION 

                                        (SECTION – A) 

                               BOTANY 

REASON’S 

Q-51. (b) Binomial system of nomenclature give by Linnaeus. 
This system. Scientific name of any one genus written in 
capital letter & species small letter. 

Q-52.(a) Stamen defined the male reproductive part of flower. 

Q-53. (d) All living beings shows in own life shape curve. 

Q-54. (b) In classification the small unit is species. 

Q-55. (b) Whittekar show five kingdom classification- They 
arranged multicellular in two kingdom. 

Q-56 (a). Main base of two kingdom of classification is cell wall 
by whitteteker  

Q-57. (b) In rice field loss of nitrogen. is covered by eyano 
Bactaria. 

Q-58. (a)  +ve Bacteria secrete. Only Tekoic Acid . 

Q-59. (a) Citrus canker are Bacterial disenene in citrus fruits. 
eg.Lemon.etc. 



 

 

Q-60. (d) Discovery  question 

Q-61. (c) In Bacteria. First experiment of sexuality in E.coli. 

Q-62. (d) Discovery question. 

Q-63. (a) Clamp connection is the process of cell division in 
Basidimycetes member(Lack of Rust) in this process all are 
laterally  divieded. 

Q-64. (c) In funi several types of spore held Asexual type of 
repro duction.  

Q-65. (a) Mycology= mykes + logos. 

Q-66. (b) Every fingus bears several types of component of cell 
wall – the main – chitin. 

Q-67. (a) In human being Aspegellosis disease is caused by 
fungus. 

Q-68. (c) Rust – puccinia 

           Smut-  Ustilago 

            Mushroom- Agaricus 

           There are all members of Basidiomycetes by alexopolus. 

Q-69. (c) cell wall of virus made up of proteen and nuclic Acid 
such as ( DNA & RNA) 

Q-70. (a) lichen =Algal & fungal 



 

 

 Algae portion of lichen all called=௣௛௬௖௢௕௜

௠௬௖௢௕௜௢௧
 

்௛௘௬ ௖௔௡ ௛௘௟௣.௣௛௢௦௩௝௡௧௨

௪௔௧௘௥ ௔௕௦௢௥௣௧௜௢௡ & ௥௘௟௔௖௧௜௢௡
  

 Both are made lichen. 

 

Q-71. (c) Defenition of viroids: 

           “Free RNA. With out proteen 

Q-72. (a) Pinus is a gymnospermic plant. 

           Pinus gerardiana  seed are eat by human. 

Q-73. (c) Defination of fungi- 

Q-74. (b) lichen species of Rocella tinctoria are obtained litmus  
solutlion. There sheet prepare- litmus paper 

Q-75.  (a) Shilapuspa – are use as a eating purpose 

Q-76. (d) Transfusion tissue supply nutrients of lateral parts in 
cycas leaflet- this structure is same to tracheids- 

Q-77. (c) plasmid are extra chromosomal structure. 

Q-78. (a) Typhoid are water borne disease causing by bactria 

            Titnus are also  bacterial disease in human. 

Q-79.(c) Discovery question 

Q-80. (b) All gymospermic plants bears – micro- & megaspore. 
The  determination male and female gametophyte. 



 

 

Q-81. (c) Mycobiont & ph

Q-82. (c) witteker divided cyanobactmia in monera

Q-83. (c) Mostly bacteria are hetero
mode of nutrition. 

Q-84. (d) Plant body of fungi in basidiomycetes 
,Deuteromycetes and  Ascomycetes are Sepetate & Branched

Q-85.  (b) In gymnospic plant 
dominent the divided 

Q-86.  (d) 

            

Q-87. (c) 

             

Q-88. (a) 

             

Q-89. (a) 

                    

Mycobiont & phycobiont are the component of lichen.

witteker divided cyanobactmia in monera

Mostly bacteria are heterotrophic on the basic of 
 

Plant body of fungi in basidiomycetes 
,Deuteromycetes and  Ascomycetes are Sepetate & Branched

85.  (b) In gymnospic plant –  life cycle sporophytic phase 
ided – Root, stem & leaves. 

 

 

 

 

ycobiont are the component of lichen. 

witteker divided cyanobactmia in monera 

phic on the basic of 

,Deuteromycetes and  Ascomycetes are Sepetate & Branched 

cycle sporophytic phase 



 

 

Q-90. (d)    

                       

Q-91. (b)      

                                 

Q-92. (b)  

                           

Q-93. (c) 

                

 

Q-94. (a) 



 

 

                

Q-95. (c) 

             

Q-96. (a) 

               

Q-97. (b) 

                

Q-98. (d) 

                

Q-99. (b) 

                  

Q-100. (d) 

                   

 

                                     



 

 

                                    NEET CHEMISTRY PAPER 

                                               SOLUTIONS 

                                              SECTION - A 

Q-101. (d)  22.4 L  of a gas at STP  has no. Of molecules=6.023
ଶଷ 

         8.96L of a gas at STP has no of molecules =଺.଴ଶଷ×ଵ଴మయ×଼.ଽ଺

ଶଶ.ସ
 

         = ଶଷ    = ଶଶ 

Q-102. (c) Wt. of metallic chloride = 74.5 

         Wt. Of chlorine = 35.5 

         Wt. Of metal = 74.5-35.5 = 39 

  Fquivalent weight of metal = ௪௘௜௚௛௧ ௢௙ ௠௘௧௔௟ 

௪௘௜௚௛௧ ௢௙ ௖௛௟௢௥௜௡௘
 

                                                        = ଷ଻

ଷହ.ହ
 

Q-103. (d) The density of gas = ௠௢௟௘௖௨௟௔௥ ௪௧ ௢௙ ௠௘௧௔௟

௩௢௟௨௠௘
 = ସହ

ଶଶ.ସ
   

                                                                                    =2 gm ିଵ 

Q-104. (d) Nucleus consists of proton and neutron both are 
called as    nucleon. 

Q-105. (c) ି have 17 proton, 18 neutron and 18 electron. 

 



 

 

 

Q-106. (b)     Mass of the particle (m)= ି଺kg and velocity of 
the     particle(v)= ିଵ  

         λ= ௛

௠௩
 =଺.଺ଷ×ଵ଴షయర

ଵ଴×ଵ଴షల =6.63 ିଶଽm. 

Q-107. (c)       From debroglie equation λ= ௛

௠௩
  =଺.଺ଶ×ଵ଴షయర

଴.ହ×ଵ଴଴
    

=1.32× 10ିଷହ𝑚 

Q-108. (c)        ௛

ସగ
     

                          =   ଶ= ௛

ସగ
    =>  =ଵ

ଶ

௛

గ
    

                          m ଵ

ଶ

௛

గ
  =>   ଵ

ଶ௠

௛

గ
 

 

Q-109. (b)          Each orbital has almost two electron. 

Q-110. (b)             ଵଽ=1 ଶ ଶ ଺ ଶ ଺ ଵ 

                             For ଵ  electron 

                          n=4, l=0, m=0 and s=+ ଵ

ଶ
 

Q-111. (c)              mv(4 ଴)= ௛

௩
 

                          So, v= ௛

ସ௠గ௔బ
 

               So, KE= ଵ
ଶ

ଶ =ଵ

ଶ

௛మ

ଵ଺௠మగమ௔బ
మ  = ௛మ

ଷଶ௠గమ௔బ
మ 



 

 

 

Q-112. (d) Graph of I I ௩

௦
  r, touches r axis at 1 point so it has 

one radial node and since at r=0,  it has same value so it 
should be for ‘s’ orbital  

 n-1-1=1 where l=0  =>  n-1=1 

Q-113. (a)

 

 

Q-114. (b) In the ammonia molecule n atom is s ଷ hybridized 
but dueto the presence of one lone pair of  ( i.e. due to 
greater ௣- ௉ repulsion it has distorted tetrahedral ( or 
pyramidal) geometry. 

              



 

 

Q-115. (c) Generally octahedral compound show s ଷ ଶ   
hybridization  

 

Q-116. (a) 

 

Q-117. (a) Oxidation state of ௘  in ௘ ଺ is +6. 

           In the formation of ௘ ଺, s ଷ ଷ hybridisation occurs 
which gives the molecule a pentagonal bipyramidal 
structure. Six positions are occupied by fluorine atoms 
and one position is occupied by a lone pair of electrons. 
Due to presence of lone pair distortion in structure takes 
place. The actual structure is distorted octahedsal.  

               5s                       5p                                      5d 

                   
 

   Q-118. (d) Molecular orbital electronic configuration of ଶ is  

  
(𝜎15)ଶ(𝜎∗15)ଶ(𝜎25)ଶ(𝜎∗25)ଶ(𝜎2𝑝௭)ଶ(𝜋2𝑝௫)ଶ(𝜋ଶ𝑝௬)ଶ(𝜋∗𝑝௫)ଵ(𝜋∗𝑝௬)ଵ 

           B.o. of  ଶ=ଵ

ଶ
(10-6) =2 

   (𝜎15)ଶ(𝜎∗15)ଶ(𝜎25)ଶ(𝜎∗25)ଶ(𝜎2𝑝௭)ଶ(𝜋2𝑝௫)ଶ(𝜋ଵ2𝑝௬)ଶ(𝜋∗2𝑝௫)ଵ 

            B.o. of  ଶ
ା = ଵ

ଶ
(10-5) =2.5 



 

 

            Molecular orbital electronic configuration of ଶ
ି is 

(𝜎15)ଶ(𝜎∗15)ଶ(𝜎25)ଶ(𝜎∗25)ଶ(𝜎2𝑝௭)ଶ(𝜋2𝑝௫)ଶ(𝜋2𝑝௬)ଶ(𝜋∗2𝑝௫)ଶ(𝜋∗2𝑝௬)ଵ 

 

           B.o. of  ଶ
ି = ଵ

ଶ
(10-7) =1.5 

           Molecular orbital electronic configuration of ଶ
ଶି is 

(𝜎15)ଶ(𝜎∗15)ଶ(𝜎25)ଶ(𝜎∗25)ଶ(𝜎2𝑝௭)ଶ(𝜋2𝑝௫)ଶ(𝜋2𝑝௬)ଶ(𝜋∗2𝑝௫)ଶ(𝜋∗2𝑝௬)ଶ 

            B.o. of  ଶ
ଶି = ଵ

ଶ
(10-8) =1.0 

             Increasing order of B.O. is  

              ଶ
ଶି < ଶ

ି < ଶ < ଶ
ା 

Q-119. (c) Oxygen is paramagnetic due to the presence of two 
unpaired electron. 

   
𝜎(15)ଶ𝜎∗(15)ଶ𝜎(25)ଶ𝜎∗(25)ଶ𝜎(2𝑝௫)ଶ𝜋(2𝑝௬)ଶ𝜋ଵ(𝑝௫)ଶ𝜋∗(2𝑝௬)ଵ𝜋∗(2𝑝௭)ଵ         

Q-120. (d)   PCL5                         SF6                     BF3                     BrF5    

 

                      Cl                 F       F       F                         F            F           F 

               Cl  P Cl                   S                 F        B                       Br  

                Cl        Cl              F      F        F                       F           F     F    F 

               bp=5                        bp=6                       bp=3               bp=5        



 

 

               lp=0                         lp=0                        lp=0                  lp=1 

       total   = 5                   total = 6                 total =  3           total = 6    
trigonal bipyramidal    sp3d2 octahedral           Trigonal planar      sp3d2

 square  

so correct answer 

(a) pcl5                          Trigonal bipyramidal  4  

(b) SF6                      Octahedral 3 

(c) BrF5                      Square pyramidal  1 

(d) BF3                     Trigonal planar 2 

Q-121. (a)    ௔௩ =  ௥௠௦ 

               ଼ோ்

గ௠
 = ଷோ்

௠
 

                ଼ோ்

గ௠
 = ଷோ்

௠
 =>  ଼ோ்

గ௠
   =ଷோ×ଷ଴଴

௠
 

                 T=  353.57 K,     t= 80.57 0C           

or 

Q-121. (a)       Root             Mean              Square              Speed 

               = ௡భ  ௖భ
మା௡మ௖మ

మା௡య௖య
మ

௡భା௡మା௡య

భ

మ
 

Q-122. (e)  Calorific value of  

              Butane = ∆ு೐

ெ௢௟ .௪௧
  =ଶ଺ହ଼

ହ଼
  = 45.8 ௞௝

௚௠
 



 

 

              Cylinder consist 14 kg of butane means 14000 gm of 
butane  

               1 gm gives = 45.8 kj 

               14000 gm gives = 14000 45.8 = 641200kJ 

                Family need 20,000 KJ/day 

                So gas full fill the requirement for ଺ସଵଶ଴଴

ଶ଴,଴଴଴
 = 32.06 days 

Q-123. (b).................................................. 

Q-124. (d)       
஼೛

஼ೡ
 =

ହ
ଶൗ  ோ

ଷ
ଶൗ  ோ

 = ହ
ଷ
 = 1.67 

Q-125. (c)       ଵ= [ௌ௢య]

[ௌ௢య][ைమ]
భ
మ

  and ଶ=[ௌ௢మ]మ [ைమ]

[ௌ௢య]మ  ,   ଶ= ଵ

௞భ
మ  

Q-126. (c) According to lechatelier’s principle 

Q-127. (c)Because it gain and also lose lose the proton 

           ଶ ଶ ଷ
ା ି 

Q-128. (a) P O H = P ௕ + log [௦௔௟௧]

[௕௔௦௘]
 

                      =  5 + log ଴.଴ଶ

଴.ଶ
 = 5 + log ଵ

ଵ଴
 = 5 + (-1) = 4 

               ு =  14 - ைு  = 14 – 4  = 10. 

Q-129. (a) B ଷ is a lewis acid because ‘B’ has incomplete octet. 



 

 

Q-130. (b)  Due to higher pressure inside the boiling point is 
elevated. 

 

Q-131. (b)  m= ௄್×ௐ×ଵ଴଴଴

∆்್×ௐ
  

           ௕= 2.16, w=0.11, W=15g,  ௕= 0.1 

                =ଶ.ଵ଺×଴.ଵଵ×ଵ଴଴଴

଴.ଵ×ଵହ
 = 158.40   =  158 

 

Q-132.(a) In case of ideal solution 

            ௠௜௫  0 

 

Q-133. (c)  m= ଵ଼×ଵ଴଴଴

ଵ଼଴×ହ଴଴
  =  0.2 m 

 

Q-134. (a)  .................................................................. 

 

Q-135. (d)  P = CRT  or  ௉
஼

 = RT 

 

 

                                   



 

 

                                        Chemistry (section-b) 

Q-136.   (c) 

Q-137.    (d) 

                   

Q-138.     (c)    

                      

Q-139.     (c) 

                    

Q-140.    (c) 

                         

Q-141.    (c) 

                        



 

 

Q-142.    (a) 

Q-143.    (d) 

                        

Q-144.     (b) 

                          

Q-145.       (d) 

                        

Q-146.      (d) 
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                                                                         ANSWER 

1 c 31 c 61 c 91 b 121 a 
2 a 32 d 62 d 92 b 122 e 
3 c 33 a 63 a 93 c 123 b 
4 c 34 c 64 c 94 a 124 d 
5 b 35 d 65 a 95 c 125 c 
6 c 36 C 66 b 96 a 126 c 
7 d 37 d 67 a 97 b 127 c 
8 c 38 a 68 c 98 d 128 a 
9 b 39 d 69 c 99 b 129 a 
10 d 40 d 70 a 100 d 130 b 
11 b 41 b 71 c 101 d 131 b 
12 c 42 b 72 a 102 c 132 a 
13 d 43 c 73 c 103 d 133 c 
14 d 44 b 74 b 104 d 134 a 
15 b 45 c 75 a 105 c 135 d 
16 c 46 c 76 d 106 b 136 c 
17 b 47 a 77 c 107 c 137 d 
18 d 48 a 78 a 108 c 138 c 
19 c 49 b 79 c 109 b 139 c 
20 a 50 c 80 b 110 b 140 c 
21 a 51 b 81 c 111 c 141 c 
22 c 52 a 82 c 112 d 142 a 
23 b 53 d 83 c 113 a 143 d 
24 c 54 b 84 d 114 b 144 b 
25 c 55 b 85 b 115 c 145 d 
26 b 56 a 86 d 116 a 146 d 
27 a 57 b 87 c 117 a 147 c 
28 d 58 a 88 a 118 d 148 d 
29 C 59 a 89 a 119 c 149 d 
30 b 60 d 90 d 120 d 150 a 

            



 

 



 

 

                    

                    

                        

                   

 

 

 


